N = 0l & At & Ml A

2022E . 204 LB @S
SRAR

j} (=4
3 is=A
oF A I

ol QHBE 23 B (29l 8)
. 5 . 4 ~
SN BA(SA) - MRAY - BES 0l &t o il HImEET
t=H =0 47,522,931 43,573,008 3,949,923
= 33,236,531
J| 375,446
Al 10,262,036
- 3,648,918
HESK A 7,514,124 7,388,940 125,184
= 3,327,901
J| 330,198
Al 3,073,154
- 782,871
dHES 23 = 992,650 714,919 277,731
= 209,491
J| 330,198
Al 274,591
- 178,370
AN H38 - S0 - 8= - JIEEY guns & 2,900 2,900 0
|
201 Lt 2,900 2,900 0
01 At 2t 2l 2,900 2,900 0
Oougns Utz S JIEEE 200,000& 200
OZAt==E 600,000& »23| 1,200
OZHUYMARINSSDIAAY Fe2e 8
Al 1,500, 000& 1,500
e A XI& 9,120 9,120 0
201 £B-2dH| 3,820 3,820 0
03 A2 Z Hl 3,820 3,820 0
OLMBSF2 G HA 1,420
SA=Ea 80,0003 =4 0H 320
o2&, =&¥E 2,000& *300% 600
CYHEBEERZ HE(IH) 100, 000& *50H 500
OGYEH SAXA 2,400,000 2,400
206 M= Hl 2,800 2,800 0
01 M= 4l 2,800 2,800 0
O&sJIl MASE FEEIERI M=
2,800,000& 2,800
301 LEHZ 2,500 2,500 0
09 HALAHIX RS 2,500 2,500 0
OLLBESF2 JIgA s 24
500,000& »2& 1,000
OYLTEZ G BALY
500,000& x1H 500
Ot AL LA 24 1,000, 000& 1,000
Hei2 OI2AE SASA ALY 9,000 9,000 0




2A: OtsdEs

HE: 5= 52

Sl YHBS 23 e (B9 ®R)
= - - HE!

SA-EB B (BN) - NRAY - HES Ol & o8 il HDE2
307 2Iztol ™ 9,000 9,000 0
02 RIZFE MM E X 9,000 9,000 0

OWHCX SASAH X 9,000,000 9,000
NFE=H ML 2E XN 126,382 126,382 0
2 63,191
Al 63,191
307 2I2t0l A 126,382 126,382 0
= 63,191
Al 63,191
10 M SXNANEEHE2IHEX 126,382 126,382 0
ONEEHM4EA 2 126,382,000& 126,382
= 63,191
Al 63,191
IFEEE Dol nEXNE Z208 29 9,000 9,500 A 500
= 6,300
Al 2,700
307 giz2tol & 9,000 9,500 A500
= 6,300
Al 2,700
11 AMSSIAIEE S 9,000 9,500 A 500
OJIE=Zd JtolA WwdXg Z208 29
9,000,000& 9,000
= 6,300
Al 2,700
ST XJFAE SAL SXEA 20,408 16,240 4,168
Al 18,008
- 2,400
307 glz2tol & 20,408 16,240 4,168
Al 18,008
- 2,400
1A S XA E X 20,408 16,240 4,168
OWMdZUo X XNIAE SAHL XY X
pa 230,000 x4 x128 11,040
Al 11,040
OW&ZSTol A KNJAAYE SALN LI EE>
=4 3,048,000& 3,048
Al 3,048
OWAZTUol X XIAE SAIL EXNEQE
100,000 »4H 400
Al 400
ONZ2E M4 A UAASSIAF HRMS
50,0003 x4 «128 2,400
O =T XNJAAE SAK A2t
20,0003 *2 A 2t x4 H «12E 1,920
Al 1,920
OW&EZSTal A XJAAE SAA BE+Y
200,000 23| x4 1,600

-2 -
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AN =D
Ba: JiE=x 52
Se YHBS 23 Y (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
301 LEHZ 390,460 265,006 125,454
J| 312,368
Al 78,092
01 MEI2EZE 45z 390,460 265,006 125,454
Ost22II=E IHEHL=EH S XA
390,460,000 390,460
J| 312,368
Al 78,092
HFAHSED Ots2=Hl N3 12,600 3,600 9,000
J| 10,080
Al 2,520
301 EEMZ 12,600 3,600 9,000
J| 10,080
Al 2,520
01 MEI2EZE 5= 12,600 3,600 9,000
OFAUEEIRE2 Ot L=l 12,600,000 12,600
J| 10,080
Al 2,520
SIRLNENE WSl - &E3H A& 23,852 32,343 A8,491
Al 23,852
301 LEEXZ 23,852 32,343 A8,491
Al 23,852
01 M3IBE X053 23,852 32,343 A8,491
OSE2VIIIEXNE nEY - s83H X
23,852,000& 23,852
Al 23,852
SIRERIIEXE WEH K& 978 978 0
Al 978
301 LEAZ 978 978 0
Al 978
01 MEI2EZE+06l= 978 978 0
O8R2IE HH = 978,000& 978
Al 978
BRsF &Y 6,521,474 6,674,021 A 152,547
= 3,118,410
Al 2,798,563
- 604,501
25 & 66,100 62,900 3,200
201 et 5,600 2,400 3,200
01 At 221l 5,600 2,400 3,200
OESHHMAs sloansy
100,000& » 12K x23| 2,400
Oogold SY(gR)otAa #¢
4,000 x160YH =54 3,200




2N B
HE: 5= 52
Col BSAE oA EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 60,500 60,500 0
10 AL SXAIEEE 2 H EX 60,500 60,500 0
ONgols & - ed X 15,500, 000& 15,500
oogoly zesdsad X 45,000,000 45,000
H22LIE 00l ArMTHE 1,498 1,498 0
201 Let249] 1,498 1,498 0
01 At 2teltl 1,498 1,498 0
O&AHE =& 150, 000& »2H 300
O&d M= 16,500 »35% 578
Og=% 60,0003 2 & 120
OJlet 2EES 500,000& 500
FHZANE 29 2,400 2,400 0
307 glz2+ol & 2,400 2,400 0
05 Rzt E = 2,400 2,400 0
O A& 2l 200,000 122 2,400
ESWAF WE2E 2 2,240 2,240 0
201 Let24d] 2,240 2,240 0
01 At 2teltl 640 640 0
Og=+=% 60,0003 +x3& 180
OE=ER2 Wi E&8% 20,000& x13H 260
O2YES 200,000& 200
03 A2 Z Hl 1,600 1,600 0
Oax2du= 300,000 »2H 600
O=233¢ 500,000& »2& 1,000
2RDA M 68,400 68,400 0
307 21201 A 68,400 68,400 0
10 M2 SXNANEHE2IHEX 68,400 68,400 0
OB|wAt ML 50,000& *114H 128 68,400
gRol2SE N 1,788,320 2,137,092 348,772
= 1,341,240
Al 312,956
- 134,124
307 glz2tol & 1,788,320 2,137,092 N 348,772
= 1,341,240
Al 312,956
- 134,124
05 RIZIRI & 3 1,788,320 2,137,092 N 348,772
Ogwrot2ss XA 1,788,320,000& 1,788,320
= 1,341,240
Al 312,956
- 134,124




AN =D
HE: 5= 52
o9l BRAE Y EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
EswAA 1AL X 1,522,024 1,529,082 AT,058
= 913,215
Al 426,167
- 182,642
307 gl2tol & 1,522,024 1,529,082 AT,058
= 913,215
Al 426,167
- 182,642
10 AL SXAIEEE2EH EX 1,522,024 1,529,082 AT,058
OsuwXa o4l XA 1,522,024,000& 1,522,024
= 913,215
Al 426,167
- 182,642
L2 X AY 326,667 562,238 A 235,571
= 245,000
Al 57,167
T 24,500
301 LPEXS 326,667 562,238 A 235,571
= 245,000
Al 57,167
T 24,500
01 MEIBEE 2063 326,667 562,238 A 235,571
oijgg=s=4g A& 326,667,000 326,667
=2 245,000
Al 57,167
- 24,500
ot XJ AL 221,855 0 221,855
= 166,391
Al 38,825
- 16,639
301 LEAF 221,855 0 221,855
= 166,391
Al 38,825
- 16,639
01 MI28HE 6= 221,855 0 221,855
OZ0t=% X3 A 221,855,000& 221,855
= 166,391
Al 38,825
T 16,639
EEnAY MM XA 585,595 507,095 78,500
= 351,356
Al 163,967
T 70,272
307 glz2+ol & 585,595 507,095 78,500
= 351,356
Al 163,967
T 70,272




A I ZSH=E
HEM: JIEEXN A
Sol: BRAFE A EERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
10 M3 SAANEEHESIGHEX 585,595 507,095 78,500
O0elold WA L WAFX&Hl K&
250,514,000 250,514
= 150,308
Al 70,144
- 30,062
O0E0IE EXDA(HAEESHS DALESH) oI
24 X 335,081,000& 335,081
= 201,048
Al 93,823
- 40,210
Helo|d XA 12,880 10,173 2,707
= 7,728
Al 3,606
- 1,546
307 2Iz2to| & 12,880 10,173 2,707
= 7,728
Al 3,606
- 1,546
10 MM SAANEEHESIGHEX 12,880 10,173 2,707
OWelold WIMHwW—-H X« 8,080,000& 8,080
2 4,848
Al 2,262
- 970
ONelold xgxd9dl X 4,800,000& 4,800
= 2,880
Al 1,344
- 576
2328 Helold X 83,334 95,232 A 11,898
= 50,000
Al 23,334
- 10,000
307 2Iz2to| A 83,334 95,232 A 11,898
= 50,000
Al 23,334
- 10,000
10 M SXAAEEHESIGHEX 83,334 95,232 A 11,898
OZ2Z28 elold X 83,334,000 83,334
= 50,000
Al 23,334
3 10,000
20 DLUHEY 29 720 1,130 A410
= 360
Al 180
- 180
201 et 720 1,130 AN410
= 360
Al 180




SA: pEHED
Ba: JiE=x 52
Sl BEAE B4 (B9 ®R)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
- 180
01 At 22l ] 720 1,130 AN410
OFRZ2 2PLUHEHY 24 720,000& 720
= 360
Al 180
- 180
Sl 222 X 1,394,602 1,374,829 19,773
Al 1,394,602
307 212t0| & 1,394,602 1,374,829 19,773
Al 1,394,602
05 A2t E 2 1,394,602 1,374,829 19,773
OFc2INsE B2 1,394,602,000& 1,394,602
Al 1,394,602
oelold #&stsH & S AH] X & 9,160 8,640 520
Al 9,160
307 QI2t0| & 9,160 8,640 520
Al 9,160
10 Al SXAIEEE2IHIEX 9,160 8,640 520
ONeold sdsts Y 2 AH XN
9,160,000& 9,160
Al 9,160
HE2XE Helold g9 dl X 3,000 3,600 A 600
Al 3,000
307 212t0| & 3,000 3,600 A 600
Al 3,000
10 Al SXNAIEEE2IHIEX 3,000 3,600 A 600
OFEXNE Helold He2Hd 3,000,000 3,000
Al 3,000
o2t el o1& 2elA2 29 206 106 100
Al 206
307 QI2t0| ™ 206 106 100
Al 206
10 Al SXAIEEE2IHIEX 206 106 100
OO0r2t0jelold S2celA=2 &9 206,000 206
Al 206
HZOHNEHE0E BESNAI Ex2 24N 21,600 24,000 N 2,400
Al 21,600
307 QI2t0| ™ 21,600 24,000 A 2,400
Al 21,600
10 Al SXAIZEE2IHIEX 21,600 24,000 N 2,400
OZBNHLORIO0E SEDA S+22 +¢
21,600,000& 21,600
Al 21,600
ZHESFOIHE0IE XS A 22EH LY 4,800 6,000 A 1,200




SA: pEHED
Ba: JiE=x 52
Sl BEAE B4 (B9 ®R)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
Al 4,800
307 QI2t0| ™ 4,800 6,000 A 1,200
Al 4,800
10 Al SXAIEEE2IHIEX 4,800 6,000 A 1,200
OXMNERKROINEI0IE XIS A 22823 &b
4,800,000 4,800
Al 4,800
HEXNJNHE 0 & EKWA SX= 5,760 5,400 360
Al 5,760
307 2Iz2t0| & 5,760 5,400 360
Al 5,760
10 Al SXAIEEE2IHIEX 5,760 5,400 360
OFEXNINE0E ESA EXxE
5,760,000& 5,760
Al 5,760
92t - JENelold Egndd =Xx=Y & 89,400 87,000 2,400
Al 89,400
307 212t0| & 89,400 87,000 2,400
Al 89,400
0O A SXNAIEHE2IHIEX 89,400 87,000 2,400
OoI2t- M0 ESUAL E2EXE
89,400, 000& 89,400
Al 89,400
012 - JIEME0lE BExKWA )25 I 14,640 13,800 840
Al 14,640
307 2I2t0| ™ 14,640 13,800 840
Al 14,640
10 M SXNAEEHESIHEX 14,640 13,800 840
Qo2 IJIE NS0T ESUWAF &I|I285482 X
& 14,640,000& 14,640
Al 14,640
228020/ Xl oA N 3,600 3,600 0
Al 3,600
307 212t0| & 3,600 3,600 0
Al 3,600
10 AIRISEXAIEEHAE2IGHIBEX 3,600 3,600 0
OZ2380elold T2l orAHd X&
3,600,000 3,600
Al 3,600
H20XNE 0ol =c|& olHdl XN 9,000 8,000 1,000
Al 9,000
307 212t0| & 9,000 8,000 1,000
Al 9,000
10 AISISEXAIEEE2IHIBX 9,000 8,000 1,000




A I ZSH=E
HE: 5= 52
Sol: BRAFE A EERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OFL0IXNSEHE0E x| oHdl X
9,000,000& 9,000
Al 9,000
ZONOIESOIZI0I A XIIA 0124 X 4,800 3,600 1,200
Al 2,400
- 2,400
307 21240 4,800 3,600 1,200
Al 2,400
- 2,400
10 M SXANEEHE2IGHEX 4,800 3,600 1,200
OHOMOIEESOHE0l& XHEFIIAF 2124H] XI&
4,800,000& 4,800
Al 2,400
- 2,400
H20XR H2O0IE 2S00 HARS2 X 181,913 140,282 41,631
Al 181,913
307 212t0| & 181,913 140,282 41,631
Al 181,913
05 QIZ2t &2 181,913 140,282 41,631
OFL0IXNE Helold 2E0H0 MHHEEES Xl
& 181,913,000 181,913
Al 181,913
AZHES X2 86,240 0 86,240
= 43,120
Al 21,560
- 21,560
307 2I2t0| ™ 86,240 0 86,240
= 43,120
Al 21,560
- 21,560
10 MASXAEEHESIHEX 86,240 0 86,240
OANZIHNEE XA 86,240,000 86,240
= 43,120
Al 21,560
- 21,560
ZOHOIEENHE 0 RO EX SHXS 820 0 820
Al 820
307 2iz2to| & 820 0 820
Al 820
10 MM SXAANEEHESIGHEX 820 0 820
OXOMOINE20 08 ROt AR HXH
820,000& 820
Al 820
EAYE HAH0otE 29 A 9,900 0 9,900
Al 9,900
307 2iz2to| A 9,900 0 9,900




AN =D
HE: 5= 52
o9l BRAE Y EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 9,900
10 ALSISXAIEEE 22X 9,900 0 9,900
OR4g ggotg 249 X& 9,900,000 9,900
Al 9,900
Lo =Xsa 36,536,843 32,745,712 3,791,131
= 28,328,789
Al 6,099,388
- 2,108,666
HEHO L 2AS B 27,897,090 24,841,187 3,055,903
= 25,019,720
Al 2,581,373
- 295,997
SOUEL QAN XA 79,400 79,400 0
Al 79,400
301 LEtBA S 79,400 79,400 0
Al 79,400
01 MEIBEE 263 79,400 79,400 0
RAELONN HERZE NE
50,0003 794 %23 79,400
Al 79,400
MASs oM A2E2"gs XA 18,000 18,000 0
301 LPEXZ 18,000 18,000 0
01 MEIBZE 05z 18,000 18,000 0
OMAS oAl A2 . FIIEE= XS
1,500,000& = 12& 18,000
=3 X= 27,799,690 24,743,787 3,055,903
= 25,019,720
Al 2,501,973
T 277,997
301 LEHZ 27,799,690 24,743,787 3,055,903
= 25,019,720
Al 2,501,973
- 277,997
01 MEIBEZE 405z 27,799,690 24,743,787 3,055,903
OJIzH3a X3 27,799,690, 000& 27,799,690
= 25,019,720
Al 2,501,973
- 277,997
A5t BEse=E L2ME B 1,447,044 1,259,226 187,818
= 818,292
Al 583,752
- 45,000
Lol 2R AAMY 261,720 0 261,720
Al 216,720
T 45,000




AR
oI=X

HY: Lo=xEd
el AABD BEYE LEME 9F CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 261,720 0 261,720
Al 216,720
- 45,000
11T M SXASE EX 261,720 0 261,720
Okl 2= AAMY 261,720,000& 261,720
Al 216,720
- 45,000
Lo EESSMEIAAY 1,128,220 1,004,900 123,320
= 789,740
Al 338,480
307 glz2+ol & 1,128,220 1,004,900 123,320
= 789,740
Al 338,480
11T MISAASER 1,128,220 1,004,900 123,320
OLSrESSMEIAALY 1,128,220,000& 1,128,220
= 789,740
Al 338,480
SHLO ZHe SSHMEHAMMEIAAY 57,104 37,606 19,498
= 28,552
Al 28,552
307 21201 A 57,104 37,606 19,498
= 28,552
Al 28,552
11T ALS S XAEE = 57,104 37,606 19,498
OSHE HoHe S=HE Y MBI AALS
57,104,000 57,104
= 28,552
Al 28,552
QHMBHD D& “EME)|e =4 7,127,709 6,580,299 547,410
= 2,432,277
Al 2,927,763
- 1,767,669
ZE2HA XI& 12,465 12,465 0
201 Let2d] 4,565 4,565 0
03 &AL Z I 4,565 4,565 0
O100AI ABIEH ZZ2 A 3,565
o8l a0t 80,000 *5H 400
cR2IES ¥ 0HE 3,000,000& 3,000
olkolo & 2 A2 & JIEA 3 Al
& 16,500& 10X 165
OUE JFZ AL & J1g4a S AU
500,000& *2H 1,000
301 EEd = 7,900 7,900 0
09 SALAHIX A S 7,900 7,900 0
O100M AH=HM ZZ2 & At 6,900




2N
X ZH -
L= B

el

Off &t 24

=
i

2

500,000& »4 &

400,000 1
24 15,000& »300H
L=

MEOHI XA
5,000 200

AL
>
on
02

2,000
400
4,500

1,000

H
roe
e

H

Al

4,794,754
2,397,377
1,438,426

958,951

4,394,257

400,497

H

Al

4,794,754
2,397,377
1,438,426

958,951

4,394,257

400,497

BSANIAMS (AL =
4.7

,794,754,000&

H

Al

4,794,754

4,794,754
2,397,377
1,438,426

958,951

4,394,257

400,497

Al

91,300

18,000
73,300

99,890

A 8,590

Al

86,300

18,000
68,300

72,890

13,410

30,800, 000&

el
2,500,000 x12&
& &34l 12,000,000
S XA
ZT=00H 6,800,000&

A At 3,000,000&
S 3,700,000&

Al

Al

72,800

30,800

30,000

12,000
18,000

12,000
6,000
6,000

13,500
13,500
6,800
3,000
3,700

59,200

13,690

13,600

A 190

2,000

21,000

A 19,000

D Pl 2,000,000

2,000
2,000

21,000

A 19,000

3,000

6,000

A3,000

3,000

6,000

23,000




2N
X ZH -
L= B

el

=321
TEPES
Mot )& S:ME)|e &4

SA - FE - BI(EA) - NRAY - By 0l b SSa DS
oustcolslsxXs 22 7Y
3,000,000 3,000
Lo 2 1,244,984 1,172,161 72,823
Al 815,350
- 429,634
307 21201 & 1,178,984 1,156,161 22,823
Al 815,350
T 363,634
10 AL SXAIEEE2EHEX 1,178,984 1,156,161 22,823
ooz 24l 695,221,000 695,221
Al 486,655
7 208,566
Okosia HE SsHEdA 9,180,000& 9,180
Al 9,180
okol=xa 22 249l 436,893,000& 436,893
Al 305,825
T 131,068
OkosEia 22 SHEdA 2,760,000& 2,760
Al 2,760
ORIZEALSI S XA X 20 &
100,000& 20 » 128 24,000
OSMIT SXEAE 100,000& 20 2,000
Al 2,000
OSAX A2t =¥ 8,930,000& 8,930
Al 8,930
401 AIEHI L 2] 66,000 16,000 50,000
01 A& HI 66,000 16,000 50,000
O =Xa =527 WA 66,000,000& 66,000
22Y 29 N& 116,320 115,820 500
Al 33,480
- 82,840
307 21201 & 113,820 113,820 0
Al 33,480
- 80,340
10 AL SXAIEEE2EH EX 113,820 113,820 0
Oozzg 24 1A 113,820
o2dHl 113,820, 000& 113,820
Al 33,480
- 80,340
308 A EHHSOIA 2,500 2,000 500
12 JIEtRE= 2,500 2,000 500
Odzd 28X =2z N=2 2,500,000 2,500
82 32 N2 6,950 6,950 0
301 LEtEH S 6,950 6,950 0




AN OIS Y
Hu: Lo=XEA
SOl QHAGHD EIIE CSMEIIE X4 EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 MI2EZE+06l= 6,950 6,950 0
Oga (4 . FHF)22Y X 6,950,000& 6,950
ZE2Y=3 2208 22l X XA 37,584 33,602 3,982
Al 18,292
T 19,292
307 glz2+ol & 37,584 33,602 3,982
Al 18,292
T 19,292
10 ALSISXAIEEE2GHEX 37,584 33,602 3,982
OY2g+s T2y HalXt X AL
36,584,000& 36,584
Al 18,292
- 18,292
OFzgss T2y 22X ZEEIH
1,000, 000& 1,000
Z2YEH3AY 11,000 11,000 0
Al 5,500
T 5,500
307 glz2+ol & 11,000 11,000 0
Al 5,500
T 5,500
10 ALSISXAIEEE2EHEX 11,000 11,000 0
OZ2g g4stArY 11,000, 000& 11,000
Al 5,500
- 5,500
Tt e 01 = X AL 272,394 265,912 6,482
Al 270,594
- 1,800
307 21201 A 272,394 265,912 6,482
Al 270,594
- 1,800
11T A S XA E = 272,394 265,912 6,482
Ol A= RHH 135,297,000& 135,297
Al 135,297
O gL osXdH 135,297,000& 135,297
Al 135,297
OCIZFALSIEXIAF ML IHA 50,0008 «3H 128 1,800
Y2Y eyl 2 Y2H N 69.800 69,800 0
2 34,900
Al 17,450
- 17,450
307 gl2tol & 69,800 69,800 0
= 34,900
Al 17,450
- 17,450
10 ALl SXAIEEHE 2 H EX 69,800 69,800 0




2N

Es =
B Lo=X 5
oF & 5 11

Ehel ot EJ|& =MEIBt =4 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OZ=2% ditehyl & 25=2H N2 69,800
odZ2E thetdl X3 49,600,000 49,600
2 24,800
Al 12,400
T 12,400
oZ2Y dHHl X& 6,200,000& 6,200
2 3,100
Al 1,550
- 1,550
ocdZ2E FRAIXNNFAY 14,000, 000& 14,000
= 7,000
Al 3,500
- 3,500
J2E SN MY 81,500 56,000 25,500
Al 1,500
- 80,000
401 A& HI K 201 I 36,500 31,000 5,500
Al 1,500
- 35,000
01 A& HI 36,500 31,000 5,500
OZzY s3I L Jf - 25 36,500,000 36,500
Al 1,500
T 35,000
405 Xt AHE S| 45,000 25,000 20,000
01 et EZFH S 45,000 25,000 20,000
OZ2Z YUY S 2YSE 7Y
45,000,000& 45,000
M=EEE ZHAA LTI (=AY HE 2 13,430 13,430 0
)
Al 5,000
T 8,430
307 21201 A 13,430 13,430 0
Al 5,000
- 8,430
05 BIZHRI & 3 13,430 13,430 0
OM=EEZ ZUM4AZTHE ALYl X2 (=YXt
cXEHEHEE) 5,000,000 5,000
Al 5,000
Okl XNaady 23284l XN&
8,430,000 8,430
ALEY 29 345,348 299,452 45,896
Al 290,491
- 54,857
307 21201 A 345,348 299,452 45,896
Al 290,491
- 54,857
10 ALSISXAIEEE2IHEX 345,348 299,452 45,896
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A I ZSH=E
HY: Lo=xEd
Sl HASS MBUIXE CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 58,500
Al 6,500
MAS0 (AIE) 65,000 65,000 0
= 58,500
Al 6,500
307 2iz2to| & 65,000 65,000 0
= 58,500
Al 6,500
10 MM SAANEEHESIGHEX 65,000 65,000 0
OMHZH (AlIY) 65,000,000 65,000
= 58,500
Al 6,500
ols - 3448 B R4 3,176,401 3,173,387 3,014
= 1,457,727
J| 45,248
Al 1,062,841
5 610,585
Ol=E X &4 2,294 517 2,327,710 A 33,193
= 1,189,077
J| 43,164
Al 803,591
5 258,685
ors=EXAd 6,100 3,950 2,150
201 gEt24Hy| 4,100 1,950 2,150
01 AP 22| d| 4,100 1,950 2,150
OltsZ2Aa9IdE A5 100,000 *x7H*13] 700
OotE=X MRS HHLT
100,000& 11 33| 3,300
Ootssifugtns 2AIx=%
100,000& *1H *x 13| 100
401 A& HI L 2 0HHI 2,000 2,000 0
01 Al&H| 2,000 2,000 0
OOWelol=0lAld =027 &HI 2,000,000& 2,000
OlSSHl ZAF 233 A 4,436 1,496 2,940
201 gBt24d| 4,136 696 3,440
02 =224 H| 4,136 696 3,440
O0tss ] 22 sUHES Xl
40,000 20 12& 960
Oot=ssi 2=2&3H(1391) KX HI
18,000 x1CH = 12& 216
O0ls&el &8s 83Xy KA
50,000& =10~ 12& 600
OXsxEs= 800,000& x1CH =1 800
O Xt XA 130,000& =10+ 12& 1,560




ST e 9 H)
(o
CHB - BI(BH) - NN - B e 2
307 glz2tol & 300 300 0
01 2222l 300 300 0
OstulaiIotE 2 zHl S 50,000& *63] 300
OtsSSHEAL =HE ZHl AKX 10,000 0 10,000
= 5,000
Al 2,500
T 2,500
405 XHoHE S HI 10,000 0 10,000
= 5,000
Al 2,500
T 2,500
01 AL EFSFH S 10,000 0 10,000
OSSN EAN =32 ZHLFH 7Y
10,000, 000& 10,000
= 5,000
Al 2,500
T 2,500
SESHERI ALY 10,000 0 10,000
= 8,000
Al 1,000
T 1,000
201 L2l 5,000 0 5,000
= 4,000
Al 500
T 500
01 At 22l 5,000 0 5,000
OALTSIt UH24Y, OHl ¥ DSl
JIEt 234l 5,000,000& 5,000
= 4,000
Al 500
T 500
301 LBEXS 5,000 0 5,000
= 4,000
Al 500
T 500
01 MEIBEE 253 5,000 0 5,000
O2atdl, MulA ARSI, JIEHX & HI
5,000,000& 5,000
= 4,000
Al 500
T 500
g &= X 16,400 12,000 4,400
Al 11,480
T 4,920
301 LBEXZ 16,400 12,000 4,400
Al 11,480
T 4,920
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2N
X ZH -
L= B

el

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %E& HRE2
01 Al E & A 452 16,400 12,000 4,400
Ogdxs4e 14,400,000 14,400
Al 10,080
- 4,320
OsE+7a| 2,000,000& 2,000
Al 1,400
- 600
A2EAEHIIE - JIERIE0S HESEZ2 X 3,500 10,500 AT7,000
Al 3,500
301 et A= 3,500 10,500 AT7,000
Al 3,500
01 Al E& A 462 3,500 10,500 AT7,000
OAaEAEHIIAE - JIER/AEOS HEEEZ A
3,500,000& 3,500
Al 3,500
A0S JI=E XK (EX) 9,767 16,800 NT7,033
Dl 6,837
Al 2,930
301 et M= 9,767 16,800 NT,033
J| 6,837
Al 2,930
01 Al E& A %52 9,767 16,800 ANT7,033
ol = 1,910,000 1,910
J| 1,337
Al 573
OgAddtses 7,857,000& 7,857
Dl 5,500
Al 2,357
U IFAOIS M2AXE N 660 2,700 £2,040
= 462
Al 198
301 et M= 660 2,700 A 2,040
2 462
Al 198
01 M| EXEE 4562 660 2,700 A 2,040
OYg - NESSOSE M2lX2 X
660,000& 660
= 462
Al 198
OS2 XIS AH 45,900 48,000 A2,100
2 32,130
Al 13,770
301 et ™M= 45,900 48,000 A2,100
= 32,130
Al 13,770
01 M EXE 452 45,900 48,000 A2,100




SN tER=D
HH: 0lS - HAW 25 24

S=x 4 7iEE)
- - _ (=
CEH SR (BH) - NBAY - B2 il 2
Oots2E XAz X 45,900,000 45,900
= 32,130
Al 13,770
BSEZ0S NEE 64,800 64,800 0
= 51,840
Al 12,960
301 deEtE X = 64,800 64,800 0
= 51,840
Al 12,960
01 AL B & X %352 64,800 64,800 0
OoOBsss0ts XN 64,800,000& 64,800
= 51,840
Al 12,960
RESOIE 088 29 (EX) 90,816 86,643 4,173
Dl 36,327
Al 54,489
307 QI2t0l M 90,816 86,643 4,173
J| 36,327
Al 54,489
10 M3 SXANEEHESY 90,816 86,643 4,173
SSHEINE 29¢9 90,816,000& 90,816
Dl 36,327
Al 54,489
RLES0s 085 N& 31,470 27,540 3,930
Al 29,670
- 1,800
307 212t01 & 31,470 27,540 3,930
Al 29,670
- 1,800
11 A SAAEEXR 31,470 27,540 3,930
O3SNMEIIE 2 17,460,000& 17,460
Al 17,460
O08=E SAA 9,600,000 9,600
Al 9,600
Odgs otd&2&elyl 900,000 900
Al 900
O8=s QUZ2ZLAIS =S XA HRM A
50,000& x3H x12& 1,800
O08s MK = 100,000& *3H 300
Al 300
OINEE SAHA 3
470,000& 34 1,410
Al 1,410
g - ges Ots=sy 296,893 206,748 90, 145
Al 222,670
- 74,223

- 22 -




- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
301 et A= 296,893 206,748 90, 145
Al 222,670
- 74,223
01 AR E & A 462 296,893 206,748 90, 145
OB - g%stxs ols34A N 296,893,000& 296,893
Al 222,670
5 74,223
E.-2.-352 0ots=24 A& 55,408 55,380 28
Al 55,408
301 dEtE M= 55,408 55,380 28
Al 55,408
01 Al B & A 46 2 55,408 55,380 28
OE ¥ -85 0ts=24 XI& 55,408,000& 55,408
Al 55,408
NAE ZAssAXSE 57,606 57,606 0]
301 et M= 57,606 57,606 0
01 AMFSIEXEE 4562 57,606 57,606 0]
ONAE ZAos24aXd 57,606,000 57,606
Ools 44 973,750 1,047,000 NT3,250
2 779,000
Al 136,325
- 58,425
301 et A= 973,750 1,047,000 NT3,250
= 779,000
Al 136,325
- 58,425
01 Al E & A 462 973,750 1,047,000 NT3,250
Oootss¢ 973,750,000 973,750
= 779,000
Al 136,325
3 58,425
ot XNANMAY 29 230 233 A3
= 160
Al 70
201 YEr2 Y| 230 233 A3
2 160
Al 70
01 AP 2t 2] H| 230 233 A3
Oltss+2 XNAMAMY 29 230,000& 230
= 160
Al 70
NE0otsSHE 294 XK 253,200 253,200 0
= 126,600
Al 113,940
- 12,660




OIS=X &4 (Ete: 8 2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 253,200 253,200 0
= 126,600
Al 113,940
- 12,660
10 ALl SXAIEEE2EH EX 253,200 253,200 0
OXYots4dEH Jl=2298l X&
253,200,000 253,200
= 126,600
Al 113,940
T 12,660
E+==28E NE0tsdH FIHAIE 14,616 14,616 0
= 7,308
Al 7,308
307 gl2tol & 14,616 14,616 0
= 7,308
Al 7,308
11T M SXALSE EX 14,616 14,616 0
E+38g NIotsdH FHX
14,616,000& 14,616
= 7,308
Al 7,308
EREY NIotsdy FIHAE 14,400 10,944 3,456
= 7,200
Al 7,200
307 gl2tol & 14,400 10,944 3,456
= 7,200
Al 7,200
11T M SXAISE EX 14,400 10,944 3,456
OER2Y XA0tsdH FIHXA
14,400,000& 14,400
= 7,200
Al 7,200
NGotsdy s4AM8IE 294 N & 1,430 0 1,430
= 715
Al 715
201 Let24d] 1,430 0 1,430
= 715
Al 715
01 At 22l 1,430 0 1,430
OXSotsdH =sAdIIE 234 X2
1,430,000 1,430
= 715
Al 715
ANSGotsdH K& 55,099 47,000 8,099
Al 48,299
- 6,800
307 21201 A 55,099 45,712 9,387
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SN tER=D
HH: 0lS - HAW 25 24

& OtsER & (=& J)
L=
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
Al 48,299
T 6,800
11 ASI S XA E X 55,099 45,712 9,387
OXdotsdE Sstd 29X 8,640
ocOlUHESHEY 8,640,000 8,640
Al 8,640
OXYotsdH SAXR XA
26,640,000 26,640
Al 26,640
OXgotsdy =208 XA 7,020,000& 7,020
Al 7,020
OF==g-=1gx] 1,392,000 1,392
Al 1,392
OXNGOotsSHE QIZEAISI S XIAF MM A
50,0003 x8H 128 4,800
OXYotsdE AR SXNZEE XA
100,000& »8H 800
Al 800
OXNYotsdE HEsl dAH X
2,000,000& 2,000
OXNHOISHE EAT AZA2R4g
3,807,000& 3,807
Al 3,807
NEotsdEe 21880 XN&E 2,760 2,760 0
= 1,380
Al 1,380
307 gl2tol & 2,760 2,760 0
= 1,380
Al 1,380
10 M3 SXNANEHI2IHES 2,760 2,760 0
OXdotsdH SJI8F0 XI&  2,760,000& 2,760
= 1,380
Al 1,380
AotsdH SAMLH X2 10,000 10,000 0
= 5,000
Al 2,500
T 2,500
307 21201 A 10,000 10,000 0
= 5,000
Al 2,500
T 2,500
11 AISI S XA E X 10,000 10,000 0
OXgotsdH &3Isd XI& 10,000,000 10,000
= 5,000
Al 2,500
- 2,500
SSNRA DHA(2X) 70,390 50,937 19,453
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o
CEE B (BH) - HBRAY - BAS %Ei HR=2
= 32,645
Al 32,645
- 5,100
101 124 H] 68,890 50,937 17,953
= 32,645
Al 32,645
- 3,600
04 JI2ZtHIZ22NEE S 68,890 50,937 17,953
O0l==XI WA 2124 X 65,290,000 65,290
= 32,645
Al 32,645
O0l==2 XN DA HRMEE 3,600
o2 LOE 300,000 x4 13| 1,200
ocHAEMHZ 300,000 x4H x23| 2,400
202 o4l 1,500 0 1,500
01 2L HI 1,500 0 1,500
O0tsEX DA (KD AISI XA SZ0H|
1,500,000& 1,500
FUHES OlssEAMH A X 133,446 134,937 A 1,491
= 103,317
Al 12,914
- 17,215
101 e1214| 11,260 10,912 348
= 8,768
Al 1,096
- 1,396
04 JI2ZtHIZ22NEES 11,260 10,912 348
OJI2tMl OtsS S &HAtdl &2l AF o124 d]
10,960,000 10,960
= 8,768
Al 1,096
- 1,096
OOt S At 22 A dRMA =&
300,000 13| 300
201 gBt24y| 114,186 116,025 N 1,839
= 88,149
Al 11,018
- 15,019
01 AP 22l H| 110,186 112,025 AN 1,839
OR2 - 21 2ET2Id 2%
100,036,000 100,036
= 80,029
Al 10,003
- 10,004
O AEE AIg2el2¥Hl & 10,150,000& 10,150
= 8,120
Al 1,015
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Ot==2 Xl &rat )
- _ _ RE]
SA BB (SH) - NRAY - B %Ei 2t
- 1,015
02 22249 4,000 4,000 0
ocsgA 4,000,000& 4,000
202 044 8,000 8,000 0
= 6,400
Al 800
5 800
01 2L Y| 8,000 8,000 0
OEHAEIEANY 8,000,000& 8,000
= 6,400
Al 800
- 800
CtetH =3 & E 53,040 0 53,040
= 26,520
Al 26,520
307 2Iz2t0| & 53,040 0 53,040
= 26,520
Al 26,520
10 AFSI 2 XI Al 53,040 0 53,040
OU&eNs=s 53,040,000 53,040
= 26,520
Al 26,520
Ctet =S84 E 7,000 0 7,000
= 1,800
Al 1,800
- 3,400
201 ety 1,000 0 1,000
01 AP 22| 1,000 0 1,000
Censs4dgyg 2d e =g
00,000& *10H 1,000
307 2iztol A 6,000 0 6,000
= 1,800
Al 1,800
- 2,400
10 AFSI S XI Al 6,000 0 6,000
O Ctgn= 6,000,000& 6,000
= 1,800
Al 1,800
- 2,400
CIe N =S dE 2dl =01 K& ( 1,400 0 1,400
Al 1,400
307 212t0| & 1,400 0 1,400
Al 1,400
10 AFSI S XAl 1,400 0 1,400
O Ctten=s84dH 3
680,000& 680
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AN =D
HH: OlS - HAY 25 |4
& OtsER & (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 680
O UEN=SsSHH SAX dSMHH =
720,000& 720
Al 720
HdAd B4 457,354 456,628 726
2 156,275
J| 1,384
Al 145,135
- 154,560
AW AdEE8S 10,100 10,060 40
201 £B-2d| 8,800 8,760 40
01 At 22l 8,800 8,760 40
O&FAY & 22 1,130
cCEEBESE 900& *50001 x2& 900
od =g 80,000 = 10H 80
oM 5,000 300K 150
OEAEE &2 8,700& x100H 870
OFAHULSH 282 1,0008+50004 15 500
OFAHULSH 3 D8 TAB
300,000& *5IH 1 1,500
Od4Y9 ¢ =oiatt 2,000& «500H 1,000
OBAUSHIANS BHaay
100,000& 10 13l 1,000
OXSAtel A2 SEXFMH 2SAZE &
G 100,000& 10 x 13| 1,000
Ost=aAAMIAdg s F&+H
100,000& »9H 13 900
OBAESSOIE S RHBAAIAS BHAL
g 100,000 »9H x 13| 900
301 EEM = 1,300 1,300 0
12 JIEBHE4 = 1,300 1,300 0
OFAERNEZ MIEAS 50,000& 62 300
OFadRoiad ANEH=S23H|
20,0003 *25H »23| 1,000
HAERHEE 2AIS XA(XH) 2,500 3,000 A 500
2 1,250
Al 1,250
307 glz2tol & 2,500 3,000 A 500
2 1,250
Al 1,250
11T MISXASEX 2,500 3,000 A 500
OFAaY Rofled HH X&
2,500,000 =14 & X 2,500
= 1,250
Al 1,250
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SAM: Ot

I o

HH .ol (AH) - NSAY - By =
AW AL XA 18,696 21,012 22,316
= 9,348
Al 4,674
=) 4,674
301 etEd 3 18,696 21,012 22,316
= 9,348
Al 4,674
=) 4,674
01 A3l EE E 56l = 18,696 21,012 N2,316
OMASEE HEEAYE AMES X
18,696, 000& 18,696
= 9,348
Al 4,674
2 4,674
AU AdEENEH 22X & 154,680 154,680 0
Al 77,340
- 77,340
307 gl2tol & 154,680 154,680 0
Al 77,340
- 77,340
05 BIZHRI & 3 154,680 154,680 0
OFAGLEERNHEH FAEAEAY 29|
154,680, 000& 154,680
Al 77,340
- 77,340
Fagordg 2 MY X 97,470 96,800 670
= 48,735
Al 24,368
- 24,367
307 21201 A 97,470 96,800 670
= 48,735
Al 24,368
- 24,367
05 BIZHRI & 3 97,470 96,800 670
O™ ALY 24l 97,470,000 97,470
= 48,735
Al 24,368
T 24,367
AESER ALY 22 K& 75,560 74,940 620
= 37,780
Al 18,890
T 18,890
307 2Iztol ™ 75,560 74,940 620
= 37,780
Al 18,890
T 18,890
05 RIZHRI &3 75,560 74,940 620
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<

n0

Kio

Hl w

220

220
220

2,001

2,001

2,001

A 15

H3r
Wikd
RIS

6,220

6,220
6,220

83,716

83,716

83,716

2,762

2,762
2,762

638

Off &t 24

75,560
37,780

fir

18,890
18,890
6,440
3,220
3,220
6,440
3,220
3,220
6,440

Al

6,440
3,220
3,220
85,717
59,162

Al
Al
Al

fi
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A I ZSH=E
HH: 0SB4 25 54
el AW 2584 (S &2)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
Al 623
05 QIZtR E 2 623 638 A 15
Ostn g EAYd ZAH|(AlH]) 623,000 623
Al 623
NEEHAE EHRARS AN 2,800 2,800 0
Al 1,400
5 1,400
307 QI2t0| ™ 2,800 2,800 0
Al 1,400
5 1,400
11 Al EXAIEEX 2,800 2,800 0
OXEaAd A} 29X
2,800,000& 2,800
Al 1,400
- 1,400
HAHE 23 N 424 530 389,049 35,481
= 112,375
J| 700
Al 114,115
5 197,340
Hald 23198 89 N 163,000 130,940 32,060
307 QI2t01 & 163,000 130,940 32,060
05 QIZtRES 163,000 130,940 32,060
OFAEZ23IOE &9 163,000,000 163,000
HAad 23198 T4 11,230 17,827 N6,597
401 Al HI L 2 0HHI 11,230 17,827 AN6,597
01 Al& H| 11,230 17,827 N6,597
O23to s 24 ZAl 11,230,000 11,230
HAHE gNs OfItMol 249 (X¥) 164,042 160,702 3,340
= 82,021
Al 82,021
307 2Iz2to| & 164,042 160,702 3,340
= 82,021
Al 82,021
11T A EXAIEE X 164,042 160,702 3,340
OFAE 8IS 0I2tH 0l 29 A
164,042,000 164,042
= 82,021
Al 82,021
HAE XS AF BHXI XS (XH) 23,208 22,320 888
= 11,604
Al 11,604
307 2Iz2t0| & 23,208 22,320 888
= 11,604
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Al 11,604
11T MISXASEX 23,208 22,320 888
O34 KT A BIXI XI& 23,208,000 23,208
= 11,604
Al 11,604
S3EAYE AL Z20829 & 9,800 9,800 0
307 21201 A 9,800 9,800 0
11T M3 SRASEEX 9,800 9,800 0
O&FAE egANd ZE208 22
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AGHEAE H0I|I7? 2L (EX) 2,000 2,000 0
= 1,000
Al 1,000
307 glz2+ol & 2,000 2,000 0
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Al 1,000
11T MISRASEX 2,000 2,000 0
OFAY =EHAE 22335 2EX&
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Al 1,000
Hiod H20reg X2 (X&) 20,500 20,590 A 90
= 8,200
Al 6,150
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= 7,800
Al 5,850
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307 2Iz2t0| A 23,870 23,870 0
= 9,550
Al 7,160
- 7,160
11T AISIEXAIEEX 23,870 23,870 0
OFA4HE Ssotel X& 23,870,000 23,870
2 9,550
Al 7,160
5 7,160
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Al 26,653
- 84,204
OlsSE A 22l Al B 110,962 104,737 6,225
= 88,770
Al 11,096
- 11,096
101 Q124 H| 98,362 104,737 N6,375
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2N B
M HEL2GFYOIs#H=)
Sel: o2y (B9 ®R)
SN HH-S(BN) - MBAY - B il HlnE2
= 20,328
Al 2,541
T 2,541
101 124 dl 25,410 22,689 2,721
2 20,328
Al 2,541
T 2,541
02 JIEH A 2+ 25,410 22,689 2,721
OANZEEHAIIH OF= 25,410
cJIE= 27,820,000% /12%35/40A1 2t x12& 24,343
= 19,475
Al 2,434
T 2,434
cA222+E 8,887& x10Al 2t+128 1,067
=2 853
Al 107
- 107
OIsE2SHEA =2 S 9,112 9,085 27
101 @124l 9,112 9,085 27
02 JIEH R 2 2 9,112 9,085 27
OAIZFEEI R Il H Ot 9,112
CIIEE 60,000& x12& 720
o Z A G A 140,000& =128 1,680
oA g EXH| 145,000& *35/40A1 2+ * 122 1,523
cSaxoLL
24,455,000 /128 x84%+*5% 122 1,028
o L2 4|
21,398,000 /122 »84%*86%*1/30%1/7+84 Al 516
2t
o= U0 bl 20,0003 133 x12& 3,120
offore sl 50,0002 *35/40A] 2t+ 122 525
=23l 62,592 60,205 2,387
S A2 62,592 60,205 2,387
201 L2l 9,072 8,505 567
01 At 22l 9,072 8,505 567
ORM2Z JlE+8Hl 279,000& »16H 4,464
OJI2gesd =24l 8,000& 34 «16H 128 4,608
202 O4dl 49,920 46,800 3,120
01 = LH 4 1l 49,920 46,800 3,120
OJlzge==a 0t 260,000& 16K x12& 49,920
203 YR =2t 3,600 3,600 0
04 FN2ELSFAH 3,600 3,600 0
ORMZHZH 300,000& 122 3,600

_36_




